



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{3} - \frac{2}{3}\right)^2 + \frac{1}{5}\left(\frac{3}{5} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{4} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{3} + \frac{3}{4}\right) =$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{3} - \frac{1}{3}\right) =$$

$$\left(\frac{1}{2} + \left(\frac{1}{4}\right)^2\right) \times \frac{2}{5} - \left(\frac{2}{3} + \frac{1}{4}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{2}{5}\right) \times \frac{3}{4} - \left(\frac{2}{5} + \frac{2}{3}\right)^2 =$$

$$\left(2 - \frac{2}{3}\right)^2 - \frac{2}{5} \times \frac{2}{3} \times 3^2 =$$

$$\left(\frac{1}{6} - \frac{1}{2}\right)^2 + \frac{3}{5}\left(\frac{2}{5} - \left(\frac{3}{4}\right)^2\right) =$$

$$\left(\frac{1}{5} - \frac{2}{5}\right)^2 + \frac{3}{5}\left(\frac{3}{2} + \frac{1}{3}\right) =$$

$$\left(\frac{1}{3} - \frac{1}{3}\right)^2 - \frac{1}{3}\left(\frac{3}{2} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{3}{2} - \frac{1}{2}\right)^2 - \frac{3}{4}\left(\frac{3}{2} + \frac{1}{5}\right) =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{3} - \frac{2}{3}\right)^2 + \frac{1}{5}\left(\frac{3}{5} + \left(\frac{1}{2}\right)^2\right) = \frac{253}{900}$$

$$\left(\frac{1}{4} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{3} + \frac{3}{4}\right) = \frac{29}{48}$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{3} - \frac{1}{3}\right) = \frac{81}{100}$$

$$\left(\frac{1}{2} + \left(\frac{1}{4}\right)^2\right) \times \frac{2}{5} - \left(\frac{2}{3} + \frac{1}{4}\right)^2 = \left(-\frac{443}{720}\right)$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{2}{5}\right) \times \frac{3}{4} - \left(\frac{2}{5} + \frac{2}{3}\right)^2 = \left(-\frac{4501}{3600}\right) = \left(-1\frac{901}{3600}\right)$$

$$\left(2 - \frac{2}{3}\right)^2 - \frac{2}{5} \times \frac{2}{3} \times 3^2 = \left(-\frac{28}{45}\right)$$

$$\left(\frac{1}{6} - \frac{1}{2}\right)^2 + \frac{3}{5}\left(\frac{2}{5} - \left(\frac{3}{4}\right)^2\right) = \frac{49}{3600}$$

$$\left(\frac{1}{5} - \frac{2}{5}\right)^2 + \frac{3}{5}\left(\frac{3}{2} + \frac{1}{3}\right) = \frac{57}{50} = 1\frac{7}{50}$$

$$\left(\frac{1}{3} - \frac{1}{3}\right)^2 - \frac{1}{3}\left(\frac{3}{2} + \left(\frac{1}{2}\right)^2\right) = \left(-\frac{7}{12}\right)$$

$$\left(\frac{3}{2} - \frac{1}{2}\right)^2 - \frac{3}{4}\left(\frac{3}{2} + \frac{1}{5}\right) = \left(-\frac{11}{40}\right)$$